2

¥

1

PARTS LIST

Side Mount 30" & 36" Tracks ™=

300gal/400gal
John Deere

9470RX, 9520RX, 9570RX,

9620RX

Price List
300 gal w/Tanks $6804.00
400 gal w/Tanks $7498.00

300 ID: JD-9RXW-16CU-OT-300R
400 ID: JD-9RXW-16CU-OT-400R

Limitations may apply. Please
consult AP Sales at 800-288-1117

QTY

PART NUMBER

DESCRIPTION

10-1919L

JD 9RX Carriage Bracket LH *Wide Track 300/400*

10-1919R

JD 9RX Carriage Bracket RH *Wide Track 300/400*

WIN

10-1917

JD 9RX Bolt Backing Plates

N

10-1011

300 Saddle

(0]

NIN[RAININ

10-1013

400 Saddle

HARDWARE

QTY SIZE

LOCATION

4 3/4" X 12" Gr 5 Bolt Bracket to Backing Plate

16 3/4" x 3" Gr 5 Bolt

Saddle to Bracket

20 3/4" Lock Washer

20 3/4" Hex Nut

5/8" x 2-1/2" Gr 5 Bolt Full Thread | Bracket to Backing Plate

4
4 5/8" Lock Washer
2 Tank Strap Assemblies

*LH SHOWN*

2

3






